Digital Drilling Data
Systems, LL

GeolLogPlot
(Scale: 5":100' (10Y)

Company: Cathedral Energy Services
Well: McConahay

Field: DJ Basin

Well ID: 05123333120000

Job Number: 115248

State: CO
County: Weld
Country: USA

Location: Dj Basin Elev KB: 5087
Operator 1: Kenneth Wagoner Elev DF: 5087
Operator 2: Erick King Elev GL: 5072
Comment 1:
Comment 2:
Comment 3:
Comment 4:
Comment 5:
Hole Data Casing Record
Size From To Size From To
8.75 845 7866 9.625 832
6.125 7866 11995 7 7853
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 1161 1140 1140 1140 1140
Cal Factor 4.55 4.55 4.55 2.75 2.75
Gamma Offset 40 40 40 69 43
Start Depth 845 989 6457 7866 10833
Start Date 6-24-11 6-25-11 6-28-11 7-3-11 7-7-11
Start Time 14:00 00:00 07:00 19:00 09:00
End Depth 989 6457 7866 10833 11995
End Date 6-24-11 6-28-11 7-1-11 7-7-11 7-10-11
End Time 23:30 05:00 16:30 04:30
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End Date

End Time
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#1 MD:929.0 TVD:929.0 1:0.9 A:348.8 VS:-0.1

#2 MD:990.0 TVD:990.0 1:0.9 A:348.3 VS:-0.3

#3 MD:1082.0 TVD:1082.0 1:0.7 A:339.1 VS:-0.3
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#186 MD:10108.0 TVD:7314.8 1:90.2 A:258.5 VS:2864.

#187 MD:10204.0 TVD:7315.2 1:89.3 A:260.5 VS:2959.
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#188 MD:10299.0 TVD:7316.6 1:89.0 A:262.2 VS:3052.7

#189 MD:10394.0 TVD:7315.9 1:91.8 A:265.4 VS:3145.

#190 MD:10489.0 TVD:7311.5 1:93.6 A:267.2 VS:3237.
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#191 MD:10585.0 TVD:7303.9 1:95.4 A:266.9 VS:3329.4

#192 MD:10680.0 TVD:7293.6 1:97.1 A:265.6 VS:3420.7




#193 MD:10743.0 TVD:7285.3 1:98.0 A:264.3 VS:3481.4

w

#194 MD:10776.0 TVD:7280.6 1:98.5 A:263.7 VS:3513.

#195 MD:10808.0 TVD:7275.7 1:98.9 A:262.9 VS:3544.2
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#196 MD:10872.0 TVD:7266.5 1:97.7 A:261.2 VS:3606.
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#197 MD:10967.0 TVD:7257.9 1:92.7 A:260.5 VS:3699.

#198 MD:11030.0 TVD:7256.5 1:89.9 A:259.4 VS:3762.

#199 MD:11062.0 TVD:7256.6 1:89.5 A:259.9 VS:3793.

#200 MD:11094.0 TVD:7257.3 1:88.2 A:259.8 VS:3825.

#201 MD:11126.0 TVD:7258.5 1:87.5 A:259.3 VS:3857.

#202 MD:11157.0 TVD:7259.8 1:87.6 A:259.6 VS:3887.
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#203 MD:11189.0 TVD:7261.1 1:87.6 A:259.3 VS:3919.

#204 MD:11221.0 TVD:7262.4 1:87.9 A:259.0 VS:3951.

#205 MD:11253.0 TVD:7263.6 1:87.6 A:259.4 VS:3982.

#206 MD:11284.0 TVD:7265.2 1:86.8 A:259.4 VS:4013.

#207 MD:11316.0 TVD:7266.9 1:87.1 A:259.5 VS:4045.

#208 MD:11348.0 TVD:7268.4 1:87.4 A:259.4 VS:4076.

#209 MD:11380.0 TVD:7269.7 1:87.8 A:259.1 VS:4108.
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#210 MD:11411.0 TVD:7270.8 1:88.2 A:258.9 VS:4139.
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#211 MD:11443.0 TVD:7271.9 1:88.1 A:259.5 VS:4170.8

#212 MD:11475.0 TVD:7273.1 1:87.4 A:259.8 VS:4202.
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#213 MD:11506.0 TVD:7274.5 1:87.6 A:259.8 VS:4233.
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#214 MD:11538.0 TVD:7275.8 1:87.6 A:259.4 VS:4264.7

#215 MD:11570.0 TVD:7277.5 1:86.5 A:259.0 VS:4296.4

#216 MD:11602.0 TVD:7279.4 1:86.6 A:258.9 VS:4328.
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#217 MD:11633.0 TVD:7281.1 1:86.9 A:258.7 VS:4358.
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#218 MD:11665.0 TVD:7282.8 1:87.0 A:258.4 VS:4390.5

#219 MD:11697.0 TVD:7284.5 1:87.2 A:258.2 VS:4422.

N

#220 MD:11728.0 TVD:7286.5 1:85.4 A:257.7 VS:4453.0

#221 MD:11760.0 TVD:7289.1 1:85.1 A:257.6 VS:4484.7

#222 MD:11792.0 TVD:7291.9 1:85.0 A:257.8 VS:4516.
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#223 MD:11824.0 TVD:7294.6 1:85.2 A:257.6 VS:4548.0
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